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ELECTRICAL ENGINEERING
PAPER-II
1. A pure inductor has power factor of
@ "1 ®) 1A2 © 0 (d) None of these

2. A series RLC circuit resonate at 200 Hz. If the capacitance is increased to four times, the
circuit will be in resonance at =

(a) 100 Hz (b) 200 Hz (c) 400Hz (d) 800Hz
3.  The voltage phasor of a circuit is 10 £15° V and the current phasor is 2£-45° A. The
active and reactive powers in the circuit are
(@) 2072 W and 10v2 VAR (b) 10W and 10\/3 VAR
(¢) 5Wand5\3 VAR (d 10+/3 W and- 10 VAR

4. In the circuit shown in the figure, if the power consumed by the 5 Q resistor is 10 W, then
the power factor of the circuit is .

5Q L 10
50 sin ot (V)
(a) 08 (b) 0.5 () 06 d 0
5. Resistance between terminals A and B of the given figure is X
: = .
A A'A'A' AV‘V‘v I'A'A' o B
A'A'A R
(a) 3/5R (b) I/5R c) R (d 2/5R
6.  Inthe given circuit, Thevenin voltage across the terminal AB is
1Q 1Q
O — M+ A
10V
- <
10V ( siQ
& =
(@ =15V (b) 15V ) 5V , d ov

7. Calculate the value of load resistance R, to which maximum power may be transferred

from the source shown in figure ;
400 60 Q

120V _—_ Ry,
= , |
(@) 3373ohm (b) 60 ohm (© 73330ohm - (d) 100ohm =
Series-A - 2 KAU-08
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| 1. U E U o i Tone ae &

- 1 @ 1 (®) 142 © 0 @ TR

2. T RLC #vft wRwel & 200 Hz W o aien & 1 3 vt o 3 s 5 90 7 e e
-, & Ty e § B
(@ 100HzW (b)) 200HzW  (c) 400HzW (d) 800 Hz W

3. U 9wy w5 siee IR 10 £15° V¥ aur 9 %eT 22-45° A | URuy § gheg aur
wiatrareier vt &

(@) 202 W@ 10\2 VAR (b) 1OW?MTIO\]_VAR
(c) - 5 W 5\3 VAR (d) 103 Waar- 10 VAR

4. i‘wﬁﬁ@ﬁﬂﬁwﬁwﬁ 3% 5 Q wir g forrett =t @wa 10 W R, @t it v o
50 L 100

50 sin @t (V)

(a) 08 T () 06 @@ o
5, fRmfd et A B F du iRy &

R R AAR

A= ‘V‘v‘v ‘v‘v‘ﬁ 'v‘v - B
i ‘v‘v‘vR
(@ 3/5R (b) I/5R c) R (d 2/5R

6. &3 oty 4, 2fhwer AB & o9 Safm s &
1Q 1Q

10V
10V 10

+A

: o— B
@ -15Vv (b) 15V © 5V @ ov
1 wnﬁﬁvRmemaﬁﬁqmﬂﬁiﬁﬂﬁﬁa}aﬁmmﬁwmﬁﬁmﬁaﬁW|

40Q 60 Q
MW A

120V — 200 Ry

' : —B
(a) 33.7331_?# (b) 60 3H (¢) 73.333W (d) 1003
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8. Ifthemand T circuits in figure below are equivalent, then Ry; Ry, R, respectively are
16Q R, R,
= i by 2 Ao |
%40 % $u0 R,
@ 99,69Q,60 ® 69,6090
© 9Q,6Q9Q d 6Q2,9Q,6Q
9. Find the valu% ?lf ‘I’ in the circuit.
£ AMA'
I
3 Volt 20 GIT‘) 2 amp
(@) , 2amp (b) 3 amp (c) 4amp (d) lamp
10. The current in the R = 10 Q resistance in the circuit below is
. 2Q
AM—
10Q
R= - g :
%_ 100 T 109
20V T
(@ O0A (b) 1A ) 2A id)* 34
11.  In the circuit below, the current through E,is
R R
(@) 9 A discharging (b) 9 A charging
(c) 1A discharging (d) 1A charging
12. For the circuit oﬁf Itlhe given figugeﬁthe value of current I is
AN j_ A .
6Q % 2vVT % 6Q
ey
L I5: :
603 b3 260
> <6 Q >
. pAS 60 : :
() 10A (b) 0.75A ) 05A 6@ D25A

L B B B B B B BN BN AN B B N N N N N NN N NN ENNNENERENNE RN N
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8. W =wid d oot & wf 1 0F T 9w @G #, A R, Ry, R, T B

%40 $

e

<P
340

R,

R,

< .
3R;

@ 90,60,6Q(0) 69.60,00 © 99,69,9Q ()

9. URYHH YR T A WA BT |

6 3T
——AAMA
Ok 9 3w d)zqw.. ;
(a). .2 (b) 3um. (c) 4um
10, e 3 2 vy F R = 10 Q T wferiy F yRT E
¥ . - Am'
‘% 100 10V
2ovL -l-
(@ O0A b 1A © 2A

11, & 7 ofiwe § E; & a9 awit aw @

RS ko
E."' E,'l' E,'I'

(a) 9 ATewRomT (b) 9 A wenT
12, o 9 o e oftes F gwy 1
£ 6Q

(@ 1.0A

KAU-08

6Q
(b) 0.75A

© 1A fewafom

T qH &
6Q

(c)

05A

(d

d

d

(d)

6Q2,9Q,6Q

3A

1 A =ifem

025 A
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13. The electrical energy consumed by an appliance of power rating P'watts connected across

its rated V for t hours is
P/V .t kWhr P k - kW -8
(a) & ®) Toop kWhr () PtkWhr d) 3gpp kWhr
1.5Q
14. 9
A I-Q Ty
—A—
1Q
Equivalent resistance between A & B, in the figure above is
(a) 1875Q (b) 2875Q () 053Q (d. 21250
15. Norton equivalent of the circuit given below is
3Q
3Q 6Q
20V (@) @ 10V : :
90 50
(a) 30V (b) 10V - 4=
(©) 10V 25Q (d) éDZA 350

16. In the given circuit, inductances Lyand L, if L; = 2L, and Leq is 0.7 H, are
T

- Leg i :
(a) 0.4 H and 0.8 H respectively (b) 0.6 H and 0.3 H respectively
(c)- 0.8 Hand 0.4 H respectively (d) 1.0H and 0.5 H respectively a
-Series-A : : 6 : KAU-08




|13, o v % g st e, STt S v S P Az B Sk 5 S S a0 ¢
| s g v ST Eni

(a) P/V.tkWhr (b) l(};._go kWhr (c) PtkWhr (d) %ﬁ kWhr
W - 150
1Q
A 1 Q Yy
o=l |
. W @ T faa § A SR B ¥ d weqed wfeiw &
(a) 1.875Q (b) 2875Q (c) 053Q d@ 2125Q

15, 9 3 ma vftwy o AT TR €
30

kel pa
@ @s3ov (b) %IOV
© 0V 350 @ M2a 350

16. T T ofww F, S Ly R L,, AL, =2L, AL 07THE §
L

: be - Leg »)
(a) 0.4 H 3T 0.8 H FAFER (b) 0.6 H 3% 0.3 H waM@R
(c) 0.8 H 3 0.4 H $9ER (d) 1.0 H 3R 0.5 H#AMER
KAU-08 7 ' Series-A
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17.

"

: ?—

Thevenin equivalent of the above circuit will be

Ry+R,
+
(a) Vs (b) vs_
: R, +R;
R + Bt
© “Vsgi @ Vsgi
18. In asix pole motor, 4 mechanical degrees is equal to
(a) 4 electrical degrees (b) 2 electrical degrees
(c) 8 electrical degrees (d) 12 electrical degrees
19. Anideal synchronous motor has no startmg torque because the
(a) Rotor is made up of salient poles.
(b) Relative velocity between the stator and rotor mmfs is zero.
(c) Relative velocity between stator and rotor mmifs is not zero.
(d) Rotor winding is highly inductive.
20. Ataslip of 4%, maximum possible speed of a 3-phase squirrel cage induction motor is
(a) 2880 rpm (b) 3000 rpm (¢) 1500 rpm : (d) 1440 rpm
21.  If the stator winding of a three-phase induction motor is delta connccted the rotor winding
(a) should be delta connected (b) should be star connected
(c) should not be delta connected (d) may be delta or star connéected
22. Synchronous motors are to be used i in situations where
(a) The load is constant.
(b)  The load is required to be driven at very high speeds.
(c) The load is to be driven at constant speed.
(d) The starting torque requircment of the load is very high.
When excitation of synchronous motor is increased upto normal excitation from under
excitation, armature current
(a) increases (b) decreases
(©) ;'emains constant (d) None of the above
24. In a synchronous motor, damper winding is provided to
(a) stabilize rotor motion (b) suppress rotor oscillations
(c) develop necessary starting torque (d) (b) and (c) both
Series-A : 8 ' KAU-08
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VVy

R,

£t
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R;+R;
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18.

19.

20.

w2k

- AR
ORI o @ -Vyq2

THT. 4T e, 4 G e s E

(@) 4 foeema felt % (b) 2 T fertt %

(i), 8 T fenlt & : (d) 12 foedr ferft &

T Y oawhicl Tt J HiE ARyes ot 7@ e, Tt

(@) VX Hiede viet & & @ € | .

(b) T R VX & T4 mmf I T T I B & |

() T &K Ve & T mmf I Wt I ¥ 7e1 Bt & |

(d) X Foee s RGeS A & | -

% -t st SR Rigt # sy dwfae i @it et feger 4% &

(@ 2880w (b) 3000gmfE () 1500w (d) 1440 gufa.

afk Pl S Hex ) e gvseh dve 3 S, @t e preeh

(a) SwTH EEA AR | (b) WRH S A ThRT |

T () e d e R e wew | (d) o RR fwet o wewr H ST @t |

22.

24.
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(c) ¥R i fae 7 W T @ SNavasar g |
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() TEReE | | (b) wSAE I
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25. Direction of rotation of three phase induction motor can be reversed by
(a) interchanging connections of any two phases
(b) disconnecting any one phase
(c) (a)and (b) both
(d) None of the above

26. Variation in dc excitation of a synchronous motor causes variation in
(a) Speed of motor
(b) Power factor
(c) Armature current
(d) Both armature current and power factor

27. Reduction in supply voltage by 10% will change the torque of an induction motor by
(a) +38% (b) 19% © 9.5% (d) Nochange

28. The step angle of the stepper motor is 2.5°. If the stepping frequency is 3600 pulses per
second, then the shaft speed will be e
(a) 144 1ps (b) 3600 rps () 25r1ps (d) 2.5r1ps

29. A 3-phase, 50 Hz, 500 V induction motor develops 20 hp at slip of 5%. Mechanical losses
are 1 hp, and stator loss is 1 kW. The efficiency will be

(@) 95.3% (b) 90.5% (©) 91.3% (d) 853%
30. The electric motor used in toys is

(a) capacitor start motor (b) split phase motor

(c) shaded pole motor (d) one of these
31. AC servo-motor is basically a

(a) Capacitor motor (b) Two phase motor

(c) Three phase motor (d) Universal motor

32. Crawling in an induction motor is due to
(a)  Space harmonics produced by winding currents.
(b) Time harmonics in supply. '
(c) Slip ring rotor.
(d) Insufficient starting torque.

33. A shaded pole induction motor does not have the advantage of
(a) Rugged construction 1
(b) Low initial as well as maintenance cost
(c)  High starting torque
(d) Comparatively small starting current

34.  In three phase 400 volt, 50 Hz supply, the phase to neutral voltage is

(@) 220 Volt (b) 230 Volt (c) 440 Volt (d) 150 Volt
35. Integration of unit ramp function gives

(a) Unit parabolic function (b) Unit ramp function

(c) . Unit doublet function (d) None of these

36. In house wiring, Black & Green wires indicate : ;
(a)  Earth & Neutral respectively (b) Phase & Neutral respectively

(c) Phase & Earth respectively - (d) Neutral & Earth respectively
37. Ferranti effect on long overhead lines is experienced when

(a) the line is highly loaded. - (b) the power factor is unity.

(c) the power factor is leading. (d) corona effect is dominated.

38. A 10 kVA, 400 V200 V, single-phase transformer with 10% 'impedancé, draws a steady _
short circuit current of ; ;
(@) 50A (b) 150 A - () 250A (d 350A

Series-A 10 KAU-08




25, e SROT AT ¥ o = e e ) o e &
(a) Tl <t Soi & Tio ot eradREae B
(b) ferelt T %1 % AT Bt geTERT
() (a) 7N (b) S
(d) I H G HETE
26, TF OIS T S Fr T, S F o 3 RoT S A a8
(a) WX H A (b) R TR A :
(o) FmERETOH (d) PTET 9RT 797 VIfER 7o AT
27, WS AeRS § 10% FI HH! S G IR0T AT & SV H I @
. @ 38% (b) 19% © 9.5% (d) Wi I T
28. T RW A W R H012,5° ¥ 1.3f R amgfv 3600 wE i Seve E, ?ﬁmaﬁn&rﬁﬂ
; (a) 144 rps (b) 3600 rps (e) 25rps (d 25rps :
29, s free, 50Hz,500VﬁTWﬁET5%ﬁN?ﬁ‘R2thﬁ$fﬂﬂ$ﬁﬁ%IﬂTﬁlﬂa"ﬂﬁﬂIlhpi'
T RS F 1 kW & | e gt
(@ 95.3% (b) 90.5% (©) 91.3% @ 85.3%
30. el | yge v ol foga AT &
(a) TG W HieT (b) fawe et Hiex
o (o) RSy (d) v ¥ B
31. UH. R g w9 @ ¥ U
(a) WWEHE (b)) FFdEAE () BwemERr (d)  gPEEE e
32, WROT OX § TR WSRO e &
(a) FUSCT URT § I WY FHIH (b)Y F TG g A
(¢ wlsemIR | (d) 3 SRR gt
33. -wmﬁﬁwmﬁaﬁﬂwﬁm#ﬁﬁﬁ?
(a) o frmfor (b) T WS q9T &S ST
(c), = i qot i (d) T HH TRE GRT
34. T fien 400 Five, 50 Hz TTE &1, %t § <gge & o Sleds g
© () 2208 (b) 230@wE (c) 440ai= (d) 15048
35. e T W % THIEAd § WIS B &
(@) e R wom b) e T we
() e Tanie wer (d) R PE T
36. U I ATERT § e 99l 83 AR ST e
(a) 37 T g FHHA: (b) ST T T THE:
(c) T AT 374 . (d) =qZoT e Y HHW:
37, o SRS A WS T UReR g € AR
© (a) VEARYEREAE | (b) iEIHETHS |
(c) wifewT Ui ST & | (d) SR AT B T & |
38. Qﬂi‘lo%kVA, 400V/200V Tehel-Hell Ziawiee forwst wfoarer 10% &, T fe @y uitey s
@ S0A® (b) 150 A =t (c) 250A = @d 350A®
KAU-08 . 11 Series-A
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39.
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Kick fuses are used across relay coils to prevent relay operation during
(a) Heavy external faults

(b)  Inrush current of transformer when they are energised

(c) Line to ground faults

(d) Bolted faults

40. For a fuse wire of diameter ‘d’, fusing current is proportional to
(@ +d (b) dl2 © ds (d) None of these
41. Differential relays are used for the protection of equipments against
(a) Internal faults (b) Over current
(¢) Reverse current (d) Reverse power _ 1
42. A 3-phase circuit breaker is rated at 1250 A, 2000 MVA, 33 kV, 4s. Its making current
capacity will be
(a) 35kA (b) 89kA (c) 79kA (d) 69kA
43. Main function of the fuse is to il
(a) Protect the line (b) Open the circuit 3
(c) Protect the appliance (d) Preventexcessive current
44, Distribution voltage levels in India are :
(@ 11kV,400V,3¢ - (b) 33kV,11kV,3¢
() 220kV,11kV,3¢ (d) None of the above
45. By burden on the relay, we generally mean
(a) Current rating of relay (b) Voltage rating of relay
(c) Volt-ampere rating of relay (d) Watt rating of relay
46. In a static over-current relay, inverse time characteristics are obtained by
(a) A differentiating circuit (b) An integrating circuit
(c¢) A transistor amplifier (d) A transistor switch
47.  Atatmospheric pressure, the dielectric strength of SF, is about
(a) 2.5 times of air (b) 2.5 times of oil =t
(c) 2.5 times of vacuum (d) None of the above :
48. Mho relay is
(a) current restrained current relay.  (b) voltage restrained directional relay.
(c) current restrained directional relay. (d) voltage restrained current relay.
49. Main purpose of oil in OCB is to ;
(a) provide insulation (b) provide cooling of contacts
(c) quenching arc (d) None of the above
S0. Which of the following circuit breaker is generally used in railway electrification ?
(a) Air Blast circuit breaker (b) Minimum Oil circuit breaker
(¢) Bulk.Oil circuit breaker (d) SF; circuit breaker
51. Isolators are used for disconnecting a circuit when ;
(a) Line is energised . (b) Line is on full load
‘(¢) ' Line carries no current : (d) Canbe operated under any condition
- 52, The transmission line feeding power on either side of the main transmission lifie is called
(a) Secondary distribution : (b) Secondary transmission :
(c) - Primary transmission (d) Primary distribution' .
53. What is the approximate value of average resistance of a human body ?
(@ 1kQ (b) 5kQ () 10kQ d 15kQ
54. The skin effect of the conductor increases the effective value of
(a) Inductance of the conductor (b) Resistance of the conductor
(c) Capacitance of the conductor (d) None of these
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39. e e et oo 8 vt oy e ot e e s s o e £
(@) vRiTwIT | (b) @ﬂﬂﬁrmmﬁwﬁﬁl
(c) WM | T # JW . D L :
40. TF ‘d’ W F TS W F FOT GRT ST St &
@ \d¥ () di2%F © di5% @ I HE
fewiferet feet 1 wam frefefan ¥ foreg sueol #t g dq e &
(a) HARHHA (b)) FWEEH U  (c)  fawE gRT (d) forde wifewm
42. ws-é%:rﬁqﬁwﬁmaﬁﬁmzm& 2000 MVA, 33 kV, 4s ¥, @t S5 35T yrr @
&5
(@) 35kA (b) 89KkA () 79kA (d) 69kA
- 43, WS % e S Ay :
(a) wg?@aﬁ HE | (b) uftay =i G | :
(c) ST = GO ST | : (d) et fagmum ®t A% |
44, e | faga faeror for steRsit o fmar s & 2
(@ 11kV,400V,30 (b) 33KkV,11kV,3¢
€) 220kV,11kV,3¢ (d) ¥ ¥ FiE T
45, Tt W oo ®, AR | g9RT AW g &
(a) oot =t fergmemr =t e (b) = =t aiees 3 e
(c) Tt =i aive-ufigar =t W (d) =t =tazifer
46. T Wit stttz Ret 3§ e wwg e wi e fHar s &
(a) T fewmfmemafen uftay & (b) U sfufen oo ®
(c) U gifeTeet W § d) wHzifrexfETd ;
47, SGAUEHN T W, SF, S WA Ale o &
(a) arqﬁz.sqm(%)'ﬁaﬁz.sw (c) FEMA25TT (d) TS
= o & :
(a) e e HE i@ (b) ngﬁﬁ
(o) W& TR e (d) dTs e o
49. OCB ¥ o1 %I q&7 I3V &iell &
(a) gér%‘ﬁw (b) T H TH TAH A % [
(© 1 THT A F T (d) T ? g
50. = H @ @ A vy fredee o Yo et § wab e s E 0
(a) T =R vy faedew (b) Tafmw e oy T
(c) o 37ae vy fosdes (d) SF, 7% fawde®
51, oot @1 s ooy wt fafeo= @< & wa foa ot &, o
(a) R o & | (b) TS YU WX UT & | i
(c) ¥ fogmum T veea B wi e | (d)  forlt o oRfefe & s s wwR ¥
52. & WU % S 0N § GaT Gifte A At §EROT St e e &
: () fFdsfamo (b) fdeeawer () webmERT () e e
53. TS HMT YK 1 Higd vy oo e a2
(@ 1kQ (b) 5kQ (©) 10kQ @ 15kQ
54, ot =more o e e P o R R w9 @ s £ 0
(a) T T U (b) e W FRRE
(c) ToTe Wt aiar (d) I HE T
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55.

56!

Which portion of the transmission system is more prone to faults ?

(a) Alternator (b) Transformer

() Overhead lines (d) Underground cables
The insulation strength of EHV lines is mainly governed by

(a)  Switching overvoltages (b) Lightning overvoltages

(c)  Power frequency overvoltages (d) Dynamic overvoltages

57. Pilot relaying schemes are used for the protection of :
(a) Bus bars . (b) Transformer
(¢) Instrument transformer (d) Transmission line
58. The restriking voltage is measured in
(@) RMS value (b) Peak value .
(c) Instantaneous value (d) Average value
59. In an n-bus power system, considering n-nodes network, the size of Yius 15
(@ a-1)x(n-1) ®) m+Dxm+1)
(¢©) nxn (d 2nx2n
60. Which fault gives rise to symmetrical fault currents ?
(a) Single line to ground fault (b) Line to line fault
(c) Double line to ground fault (d) Three phase fault
61. Typical solar cell efficiency is
(@ Lessthan5% (b) 12%t025% (c) 30% to 40% (d) More than 50%
62. India receives solar energy in the range of
(a) 5-7 kWh/m? for 300-330 days in a year
(b)  50-70 kWh/m? for 300-330 days in a year
(¢) 5-7kWh/m? for 200-230 days in a year
(d) 50-70 kWh/m? for 200-230 days in a year
63. Biogas comprises mainly of :
(a) 60% oxygen and 40% carbon dioxide
(b) 60% oxygen and 40% methane
(c) 60% methane and 40% oxygen
(d) 60% methane and rest carbon dioxide
64. Global warming is mainly due to
(@) Emission of heat from engines
(b) Emission of CO, due to burning of fossil fuels ‘ Lo
(c) ,Use of nuclear energy :
(d) Air pollution
65. The possible site for Geothermal energy extraction for the purpose of electricity in India is
(@) Madhya Pradesh (b) Kerala : :
(c) Tamil Nadu ‘ (d) Assam
66. Horizontal axis and vertical axis are the types of
‘(a) Nuclear Reactor (b) Wind Mills
: (c) Bio Gas Reactor (d) Solar Cell
67. The Fill Factor of a silicon solar cell is approximately :
(@ 1 : (b) 0.7 (c) 0S5 d o0
68. Major share of power generated in India is through
(a) Thermal Power Plants (b) Nuclear Power Plants
(c) Hydro-electric Power Plants (d) Solar energy
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55.  HEROT S S H W AT Biee & i ST FEEeieT fa g 2 ;
_ (a) X (b) TEHHET (c) TRt (@ s Hfae
56. Eﬂvmﬁﬁﬂﬁmmﬁaqmmﬁﬁmﬁaﬁaﬁ
()" (b) afga saateest grT
. o) Waﬁﬁraﬂwﬁﬁﬁm (d) nferelier stteaieest R
57. UraEe Rk i feas w9 % fw v et 2
(a) WEER (b) FEHET (c) YR TWRET (d) FEOT T
58, {-rfET aees At W
(a) SRTATH AFF (b) fFrERaEd
(c) TEMHEATT . (d) ST IEE
59, T -7 v feve 8, n-ore dewd W G, y, @ S S
: (@ m-1)xm-=1) ) m+Dxm+1)
() nxn (d 2nx2n
aﬁﬁmnﬁwwﬁmmmmmt? .
(a) WW‘I‘“‘T (b) feen wguy
(o) e T wew (d) Frpem wETY WY
61. U WAt Gier Het S e & .
(@) 5%®FT (b) 12%Q¥25% (c) 30% ¥ 40% d) 50% ¥ s
62. ¥R ¥ WIS &7 qelt WY el @ W & .
(@) 5-7kWh/m?, 300-330 KA uw ad & (b) 50-70 kWh/m?2, 300-330 f&7 v ot &
(c). 5-7kWh/m?, 200-230 R s as § (d) 50-70 kWh/m?2, 200-230 &7 w& o &
63. W ey W @ whwh §
(a) 60%%3&40%%33%
(b) 60% = 3T 40% =9
(c) 60% B R 40% FferiorT
(d) 60% BT K WY HET TEIFAES
64, TEISCT FIET T T HROT
() 3T ERT S A I (b) HETeH $u & ST § CO, F Tewta
(c) fiyeh il &1 T (d) drg wgor
65. - St o1 fereg ¥ Frepdor R ¥ e S @ e wRe S d 0
(@ #EWA (b)) W (c) afrrg CYI
66, & o i o e e R E
. (a) TTveE fuwR (b) e e (v () WEtRumwr (d) ®Rae
67. oo dier a1 &1 fFer et o BT &
(@ 1 (b) 0.7 (© 05 @ 0
68. WA ¥ faeel IR 1 T fEwr qWh g €
- (a), awfegagEn (b) TR FeI A
‘{c} qqfawaﬁfaqama‘r (d) WRF
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69.

70.

71.

72.

73l

74.

75.

76.

77l

Match Lists L-I and L-II below, in respect of India’s installed capacity of non-
conventional energy, as on date. : =iy

L-I L-1I

1.  Solar Power A. 2800 MW
2.  Wind Power B. 3063 MW
3. . Bagass Cogeneration C. 1365 MW
4. Biomass Power D. 22465MW

1 2 3 4
@ A B € D
(b) B A C D
) DR/ A O

B b A £

When a body reflects all the radiations incident on it, then the body is known as
(a) White body (b) Grey body
(c) Black body (d) Transparent body

A diesel power station spends 0.25 kg/kWh fuel. If the calorific value is 10,000 keal/kg
then overall efficiency of the power station will be
(@ 25% (b) 30% (c) 344% d) 100%

Admittance is the reciprocal of ; ) :
(@) Impedance (b) Reactance (c) Susceptance (d) Inductance

An inductor at t = 0* with zero initial conditions acts as
(a) shortcircuit (b) opencircuit (c) current source (d) voltage source

In the circuit shown, if we connect a source of 2 volt with internal resistance of 1 O at
AA’ with positive tem}igal at A’, then the current through R is :

vy o A’

VCD‘A 10 R=2Q

(a) 2A (b) 1.66 A © 1A (d) 0.625A

Which of the following statements pertains to resistors only ?
(@) They oppose sudden change in voltage.

(b) They can act as energy storage device.

() They can dissipate desired amount of power.

(d) None of the above.

What is the maximum number of points of light, fan and socket-outlets that can be
connected in one sub-circuit ?

@ 5 (b) 10 : () 20 (d 30

Minimum distance of underground cable from the foundation of building should be

(a) 100cm (b) 50cm () 10cm - (d) 5cm : _
78. Official systemetic, scientific study of énergy consumption by the related organisation for :

cost reduction and energy conservation is

(a) energy policy (b) energy audit

(c) (a)and (b) both (d) None of the above
79. The type of wiring that is highly suitable for a temporary shed is

(a) Cleat wiring (b) Wooden capping and casing wiring

-(c) . Lead sheathed wiring : (d) Conduit wiring
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69.

70.
71.

72.

73.

74'

75.

76.
77.

78.

79.

Bw—

T T St e e e e o o L 9 L e
L3 s L-1I

e i o A. 2800 MW

LCERIIET) ~B. 3063 MW

Y BRI C. 1365 MW

TR i D. 22,465 MW

QNoo+

3
c
C
A
A ;

ot e g T STt et AT 0 3§, A v weer &
(@ whsfvg (b) Adenfoe () vamfos (d) RS foe

T 025 kg b S 1 o i 10,000 el

At e T I T eI

(@ 25% (b) 30% ) 34.4% (d 100%
TRV (TS S0 SqohH Bl ¥

(a) wicsmr (fs=) (b) wiEm (R

(c) iymfcaa wavae (Faew) (d) WA (FERN)

WRANE STl I I M H, t = 0* T T W 56 T T el §

(@) TR (b) gWRW - () FEmRET (@) FewmEm

T T ROy §, AT AA’ FHE 2 V a9 AR WY 1 Q F R o EeT S

e A’ W, @ R # gt
b X

CT 1A 10 R=2Q

(@ 2A (b) 1.66 A ?c) 1A (d 0625A

7= o | 1 |1 Fo Haer vyl % g ?
(2) 3 fava & e uftaes & faty w@ & |

(b) T Tt WSRO gieTEl % TG X B WA € |

{c) 3 gifere vifeRT s &Ror = T € |

(d) SREAIFETE

T IU-URTY § S S Wt ST WehIT, VT e Wiehe % fagedl it sifiepaw dem g 2
@ 5 (b) 10 © 20 d 30

ferelt wrermr =1 ff @ e Sfier 3 w7} w9 0 B =T

(a) 100w (b) 50 ¥t (c) 10w (d) 5%

GE HH R UE ol ST o fore, Wi S g R T anfuenie wReeg, St v &
(a) FerAfd (b) T ErET-TE

© (a) (b) 3 @ wHIFETE

TS 95 & o Wailfss SugeR arafor i &t gieft & 2 :

(a) e a@raT (b) IHE! B BT TG HIET AT ST

(c) we VS aERT (d) w=gge i
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80. Current i, in the figure will be
iy =4 amp
- N -
i,=2.5 amp Iy
i3 =2 amp
(a) 13 amp (b) 0.5amp € 4.5amp ‘) 8.5amp
81. Find power absorbed/delivered by 120 V source.
300 30V
+ "’-_"""'
* >
120 V= 3150
(@) . 120 watts  (b) 240 watts (©) 2 watts Co(d 1 watt
82. In the circuit, V is
- 2Q
Vs _C) +
402 8V
@ 8V ®) 10V © 12V @ 16V
83. The characteristic equation of the series RLC circuit is
R L
_|.. C
(@ S?+(LC)S+R/L=0 ' () S2+(/LC)S+L/R=0
(€ S2+(@M/R)S+LC=0 (d S?+(RL)S+1LC=0
84. A network has 10 nodes and 17 branches. The number of independent mesh equations
required to solve the network is -
@ 7 (b) 8 (¢ 10 d 45
85. Which of the following elements is not bilateral ? '
. (a) - Resistor (b) Inductor - (c) Capacitor (d) Transistor
.86. Each branch of Y-connected load has resistance of 10 £, The resistance of each branch of
an equivalent A-connected load will be o
@ 30Q (b) 100Q (c) 110Q ~ (d) None of these
87. In applying superposition theorem, to determine branch currents and voltages
(a) all current and voltage sources are shorted.
(b) only current sources are open circuited.
(c) only voltage sources are shorted. .
(d) voltage sources are shorted and current sources are open circuited.
Series-A ' 18 e KAU-08




8(_)._ e o ww i A= B
; //i.=4qw.
: N :
ih=25mm A
=2
@) 13T, ® 05T () 45T d 85w,
81. 120 V &id 5T Vifvasw wifte s i |
: 300 S
"'_"VWvV ?ll:_
120vt::: : 3150
(a) llzoaﬁa— (b) 2408 (c) 24 (d 13=
82. wiward, VimAm &
'+' 20
ng) Lhs
i 403 8V
@ 8V ®) 10V € 12V d 16V
83. vieeT RLC 9wy =1 Afirea/stiiemefores weieor &
" AM" .
R L ;
_l_c
(a) S2+(LC)S+R/L=0 (b)) S2+(1/LC)S+L/R=0
() S?+(@R)S+LC=0 (d S2+®RL)S+I1LC=0
84. TH URU¥ WA F 10 AE 791 17 Wt § | ReT e B e A F ow Readt @e ww
AU 1 SV gt ?
@ 7 () 8 ) 10 (d 45
85. fm 9 ¥ oW o1 g Rrof¥ew 7@ £ 2
(a) wiewy (b) W& (c) wnfer (@) gitmx
86. Y ¥ IS BT WR I W o+ A 10 Q F ARG ¥ | 3769 WHGT A F R 5T HR 1 wedep e A
Wiy g .
= ). 00 (b) 100 Q © 110Q (d) ¥« HE T
87. . STAIOT Y TR WA, WNET SIS T Ao I B 3 AT !
(a) F AR T SeR Sl B o gRey i e |
(b) e YT B I Ger witey faar s €
(c) %act dices Hid t o1y qRay fear v |
(d) eSS B S oY UG 71 YR A B Gor w9y ey
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88. In the circuit, the maximum power that can be transferred to Load Z is

10Q
It = 3 -
102 sin(1000t) i :

(a) 250w (b) 500 W (c) 1000 W (d) 2000W

89. The material used for fuse wire should be of
(@) low resistivity and high melting point
(b) high resistivity and high melting point ‘
(c) high resistivity and low melting point J
(d) low resistivity and low melting point

90. It is desired to illuminate a drawing hall with an average illumination of about 250 lux. ‘
The area of hall is 30 m x 20 m. The lamps are to be fitted at 5 m height. Find the number '
and size of incandescent lamps required for an efficiency of 12 lumen/watt. Utilization =
factor = 0.4 and maintenance factor = 0.85. : ‘
(a) 40and 1000 W (b) 20 and 500 W
() 60and 1000 W (d) None of the above

91. Battery operated scooter for braking uses
(a) plugging (b) mechanical braking - :
(c) regenerative braking (d) rheostatic braking -

®
o)

gl

®

®

o)

®

-

-~

]

-~

-

~

o

~

®

Lo

92. In spot welding, electric supply used is

) (a) low voltage high current (b) high voltage low current
° (¢) low voltage low current (d) high voltage high current | ;
®
~
o
Lo
®
.
®
~
L)
g
®
g
L]
L]
]

93. In the process of refining of metals, the impure metal is made as
' (a) Cathode (b) Anode

(c) Electrolyte (d) None of the above -
94. Minimum clearance above ground of the lowest conductor of an overhead line erected

along a street for low and medium voltages as per “Indian Electricity Rules” is

(a) 4.5metres (b) 6.1 metres (c) 6.5 metres (d) 5.5 metres

95. Synchronous capacitor is
(a) An ordinary static capacitor bank.
(b) An over excited synchronous motor driving mechanical load.
(¢) An over.excited motor runrung without mechanical load.
(d) None of the above

96. Interms of cost, overhead transmission line is better than underground transmission line in

the field of :
(a) Insulation (b) Rightofway (c) Visibility ~(d) None of these

97. Materials used in plate earthing are
(a) Wood coal (b) Salt, earthing plate
(c) (a)and (b) both (d) None of the above &
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- 88, ufww H, stfersam vt <t 9 Z, H werRe @ o w8 g
‘ 100
I(t) = t Z
lo\ﬁsin(moog:) S [] ;
(a). .250W (b) 500 W (c) 1000 W (d) 2000W
89. m#m%mmﬁmﬁmmm
1a) mnﬁlﬁmmﬁm (b) = WicRIyHaT qYT IS ToHIG
() Wﬁﬁﬁﬂﬂﬂﬂw (d) W wfceeRaT qe HH T |
90. ﬁﬁaﬁwmaﬁuﬁmﬁﬁ%maﬁaﬁwzsommaﬁwhmm
T gwe 30 T x 20 & 1 S s o W Sud woeen ¥ 1 12 st # g & fie
fepermt eteal =t W 7 W e 2 ST ot = 0.4 @7 TEREE O = 0.85
(a) 4079 1000 W - (b) 2071500 W
(c) 60 7E 1000 W (d) ¥ S
91. S =T e H § T ¥ WA BT
(@) AT (b) FEFHSET  (c) TR ARBT  (d) WRRYE RfHT
92, Witz dve ¥ WA ST ATeh wed &
" (a) T e 3= ORI (b) I aivear T uRT
(c) Tt sicear frmy wmr (d) = Sieear 3= UN
93. IS & YEIHIVT Hi UFHAT H, 3G U] I T GG AT & 2 :
@ (b) TIE (c) TERE d) T HE T
94, i TR wow 3 SR, el A faerd T st e dezan e iR o
% WEH A % AT B Ul § SR A A €
(@) 4.59=T (b) 6.1 Hiex (c) 657X (@ 5.5%R
95. eI GYIRT &
C (a) U gR Sfaw e d
(b) qwmﬁrsﬁhﬁmﬁavﬁmﬁwwaﬁwd%n
(c) U -3 qoaepiiers At st T it TR F T @ ¢ |
(d) I H | HE T
96. mﬁmﬁ,,mﬁmmWWWﬁwmﬁm%y
(a) TEH (b) YA H FAUSEK (c) TEE (d) T I HE
97, i St & srei o ST T et
(a) TIHE HrAET (b) W, AT W
(€) (a) e (b) 3T () ¥ ¥ wE T
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98. The rating of fuse wire is always expressed in .
(a) volts (b) amperes (c) ampere-volt (d) ampere-hours
99.  An automatic power factor controller cannot achieve
(a) Voltage control (b) kVAR control
(¢) kW control (d) pfcontrol .
100. A single phase energy meter has a constant of 1200 revolution/’kWh. When a load of
200 W is connected, the disc rotates at 4.2 revolutions per min. If the load is on for 10
hours, the meter records an excess of
(a) 0.1kWh (b) 0.2kWh () 1.0kWh (d) 2.0kWh
101. Aluminium conductor cables can be joined by ’
(a) Gas welding (b) Soldering
(c) Compression (d) Thermit welding
102. From the point of view of safety, the resistance of earthing electrode should be
(@ Low
(b) High
(¢) Medium
(d) The value of resistance of earth does not affect the safety :
103. The insulating fluids that are commonly used in circuit breakers is/are
(a) SFg (b) Air at atmospheric pressure
(c) Compressed air (d) All of the above 27
104. Which of the following test is carried out to ensure the sufficient strength of insulation
between two or more conductors to avoid leakage between them ?
(@) Testing of insulation resistance between wiring and earth
(b) Testing of insulation resistance between conductors
(c) Testing of polarity of single phase switch
(d) Testing of earth continuity path
105. An isolated sphere has a capacitance of 50 pf. If its potential is raised to 10* volts, radius
and charge will be respectively. Given that 4—";5 =9x10°m.
0
(@) S54cm,0.5puC (b) 4.5cm, 5.0 uC
(¢) 45cm,0.5puC (d 5.4cm,50uC
106. Which distribution system is more reliable ?
(a) Ring main system (b) Tree system
~ (¢) Radial system : (d) All are equally reliable.
. 107. HV transmission lines use
. (a) Pin type insulators . (b) Suspension insulators
(c)- Both (a) and (b) (d) None of the above : .
108. . For proper earthing, what should be the maximum value of earth resistance while carrying
out the testing of earth continuity path ? :
() 1Q b)) 2Q © 5Q @ 100
109. The advantage of using pulverized fuel include
(a) Higher boiler efficiency (b) Easy and complete combustion
(c) Low air requirement (d) All of the above
Series-A 22 : KAU-08
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98.
(@) drEH (b) whmRd (¢ utmEaEed  (d) whmEeEm s
99. T WA Witet oTie Forier W T & : '
(a) dieear fraor & (b) KkVAR fzor
() kWfimmms - ~ (d) pffrEErd
100. T THe el S WX H feich 1200 OF/KWh ¥ | ST 200 W T SR ST T4, ot gepdt
U R 4.2 O Wi faee @ e & 1 3R 9 @ 10 92 9 S T ST &, At ey et
el St @ue g 2 :
‘ (a) 0.lkWh  (b) 0.2kWh () 1.0kWh (d 2.0kWh
101. . veyfafaw HsweT Sfver i siter o1 gar & .
" (a). T awtET ERT R (b) WieefaT grr
(c) HEINE ERT ' (d) dffe afesT g
102. qUT &l 3 B, 9-Iioi seiaeis &1 WieRy 8 g
(a) =9
(by ~aTET
(c) #=EH
(d)  STT RS ST /I AT i W T H |
103. - Fr=a: Wiy faedest 7 wa fmar s aren wfaet wwer e i
(a) SF, (b) SRS T T AT
(c)- ifed & (d) zwETH
104, fFTieiiEm Wi 5 § i |/ W, D ¥ A e F e e B s 6
: Eﬁﬁﬂﬁﬂﬂ#%ﬁgmmi? |
(a) WEFHT e TRIAT WY 7 q0sor -
(b) =TT F HE WTerRie =T ieor
(c) et = e qg?’wq'&ﬁw
(d) M#fﬂwiﬁr’
105, ot orper Titet 1 WA 50 pf & | 2 TR fave sgERe 104 diee 9 e SR, o e
ST . A, e - = 9 x 109 m
. : 3 TI:EO
(@ 54cm,0.5puC (b) 4.5cm,5.0uC
(c) 45cm, 0.5 uC (d 5.4cm,5.0pC
106. I Gt fareror yoret saret favaaa & 2
(a) o1 57 yomedt (b) 3 womER :
(c) -Yfezer womet (d) v v R v
107. HVﬁﬂﬁTmﬁmﬁm% : .
(a) - Y T (b) T THEEA W
(c) ()T (b)TAH (d) T qHE T
108. ﬂﬁfﬂﬂﬁﬂﬁﬁ%ﬁ’lﬂ; et it e W T ST T R v o R
STETE ? :
@ 1Q (b) 2Q © 58 @ 100
109. g F AT AR E =
(a) =0 SEeR @A (b) STEM 3T qUf T8
(c) W &1 i SETEHA G
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110. 1 Ton (unit of air conditioning load) in terms of kW is
(@ 35kW (b) 4.7kW () 12kW d) 105kW
111. In steam locomotive, electric power is provided throﬁgh :
(a) Battery system (b) Diesel engine generator
(c) Overhead wire . (d) Small turbo generator
112. Which of the following methods of heating is not dependent on the frequency of supply (5
(a) Induction heating (b) Dielectric heating :
(¢) Electric Resistance heating (d) All of the above
113. A single-phase AC arc welding transformer supplies approximately
(a) 100 volts at 0.35 power factor (b) 60 volts at 0.35 power factor ¥
(c) 220 volts at 0.8 power factor (d) 100 volts at 0.6 power factor
114. Long distance railways use for their electric traction
(a) 200Vdc (b) 25KV single phase ac
(c) 25kV two phase ac (d) 25 kV three phase ac
115. Which type of motor is used for elevators ?
(a) Synchronous motor (b) Inductor motor
(c) Split phase motor (d) All of the above
116. Minimum wind speed required for generating electricity in a wind mill is
(a) 15 m/hour (b) 1 km/hour g
(c) 15 km/hour (d) None of the above
117. The rotor of a stepper motor has no :
(a) Winding (b) Commutator
(c) Brushes .~ (d) All of the above
118. The colour having shortest wavelength in the following is
(a) Yellow (b) Blue () Orange .+ (d) Green
119. A synchronous motor is essentially a motor with | :
(a) Constant speed (b) Leading power factor
(¢) Unity power factor (d) Lagging power factor
120. Atlow values of slip, the torque of an induction motor is
(a) directly proportional to the square of the slip.
(b) inversely proportional to the square of the slip.
(c) directly proportional to the slip.
(d) inversely proportional to the slip.
121. An infinite bus-bar has :
(a) constant voltage (b) constant frequency
~_ (c) (infinite voltage (d) both (a) and (b)
122. If the supply frequency of a 3-phase induction motor is ‘f, then frequency of rotor emf at
motor slip ‘s’ will be : B
(a) sf : ) (1-9s)f (c) fIs (d) None of these
123. If a four pole synchronous generator driven at 1500 rpm feeds a 6-pole induction motor,
: which is loaded to run at a slip of 5%, then speed of the motor will be
(a) 1000 rpm (b) 950 rpm © (c) 1500 rpm (d) 1450 rpm
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110. 1 27 (FRMEER 9T B h1E) kW S et § g

(@ 3.5kwW (b) 4.7kW (c) 12kW (d 10.5kW
111. =i Arwmited 5, foge v wem #t st &

(a) S WTE R (b) ST I AR TR
. (@ ﬁmﬁmmr (d) BT AT

112, Frer o & 9 o oo o faf s = amafiy o fnft e & 0
(a) RO AT (b) WEEA AT (c) fawe whRw AT ()  F W

113, T Coer- el TH, o e Zrawi Ss S & e
© . (a) 1004w 0.35 v o @ (b) 60 3T 0.35 Afew ToIiH T

(c) 220%T0.8 Vi TH R (d) lOQa’IEO.GWﬁHqUﬁH?W
114, i g 3 Yot v P aveor 3 o i = el & -
(@) 200V St ~(b) 25 kV U o T
(c) 25kV fe-wem gt (d) 25kV fr=en THt
115. m&mﬁg_jﬁawmﬁmt? Ko

(a) qoFHA (b)
(c) Tawes o dieT (d) Favt

116. T Yo wien! W fergga Seameq 3 fore =g &g i emavas
@ 1sdda () 1fEd@Er () 1SR @) TR sE

117. T R Hex % e A 71 gl

(a) e (P (b) T (Repuivacian)

(2) ERE : @ FAwH
118, =1 ¥ & @ &1 qOTR e O -

(@) e, (b) iew (c) @ =&
119. WWW%WWW%
. (@) oS fEA A (b) TWH ST Ve O AT & |

(c) T TS VISR TONH AT & | (d) T U= N on A & |

120. ﬁaﬁg;maﬁw%ﬁrﬁrﬁamwm% R
(a) AT (b) SeHHAT
(c) T & wHFRT - (d) =T % oraramEr

121. TF 3= SH-9H gt & :
@ feraes  (b) fer emfy (c) == AT (d) (a) 7T (b) T

122, 3 o 3.0 0T R ) T S f ¥, o e S s 0 e P, s gt
(@) sf ®) (1-9)f ) fis @ ¥ BE T

123. 3 T 1500 LW.H. W AT S @ 9w T AT T 6-ltg R0T THex F i

AT &, Wit R 5% feorg o werm & fow wifte &, ot Siex =5t 1 :
(@) 1000g%f. (b) 950gwfH. (c) 1500 gxfa. (d) 1450 gufy
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124,

125.

Which of the following vapour/gas will give yellow colour ?

(a) . Helium (b) Mercury (¢) Sodium (d) Magnesium -

If the distance between the light source and the surface is reduced to half, the illumination
on the-surface will

(@) reduce to half of the original. (b) reduce to one fourth of the original.

(c) increase to double of the original. (d) increase to four times of the original.

126. 80% Ni, 20% Cr is called as
(a) Constantan (b) Nichrome (c) Kanthal (d) None of these
127. Electric arc welding process produces temperature upto :
(a) 1000 °C (b) 1500°C () 3500°C (d) 5550°C
128. During the resistance welding heat produced at the joint is proportional to
(@ IR (b) kVA (¢) Current (d) Voltage
129. Which of the following motors is used in household refrigerators ?
(a) AC series motor (b) DC shunt motor
(c) Reluctance motor (d) Single phase induction motor
130. The PLC was invented by ' :
(a) BillGates (b) Dick Morley (c) Bill Landis (d) Tod Cunningham
131. Match the Lists L-I and L-II :
L-I L-1I
1.  Bolometer A. Flow
2, , H-Bridge B.  Displacement
3. LVDT C. Radiation
4. Anemometer D. DC Motor
1 2030
@) o - R
(b D € AR
(c) A €  BTD
b D € B &8
132. Which meter is suitable for the measurement of 10 mV at 50 MHz ?
(a) Moving iron voltmeter (b) CRO
(c) Electrostatic voltmeter (d VTVM
133. Programmable Logical controllers are the devices that were invented bas;cally to replace
(a) Switches (b) Circuit Breakers
(¢) Relays (d) None of the above -
134. Load cell essentially is a -
g (a) Thermistor , (b) Strain gauge
(c) Photo-voltaic cell {d) None of these
135. Stranded wires are mainly used to :
(a) reduce skin effect (b) reduce metal fatigue
(c) reduce proximity effect (d) both (b) and (c)
136. The method suitable for heating of a conducting medium is
(a) Induction heating (b) Indirect arc heating
(c) Eddy current heating (d) Resistance heating
el 2 . KAU-08
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@ TEEEE () FHEEER () WEAT () TTHIR
126.

127.
128,

129.

130.

131.

132.
133.
134

135.

Forer 3 et e e o k2 ‘
(a) elferaw (b) =R (c) wifemm (d) Hiferm
A R F YT A€ F A B G e S R, A ¥eE R WS g

T (Tfther) AT i Tavivet afere waihT fear o &, e
(a) b wome =t w fmar s wes | (b) wvq.Hifer = W o o W |
(c) umHE ywE B wH RS EH | (d)  (b) 7T (c) T

136, = = fafir wrere wmeam i T R & e swgE £ 0
(a) WOT O (b) ITHTIE T AT
(c) WSRHRTAMA - (d) iRy ae=

' KAU-08 g 27

80% Ni, 20% Cr %! %ea &
(@) W (b) Few (c) = d) I BETE
Toge e Afee wfsrar & Seo AOHE wET T & '
(a) 1000 °C (b) 1500 °C (c) 3500°C (d) 5550°C
iRy afeeT & SR WY 9T SeI= ST T SRl Bt &
@ I’R (b) kVA () urr d) dees
TH WET B Aot WeeeT § S § HieT @ g E 0
(a) AC ¥R AR (b) DC ¥ 8T
(c) fem=aAl - (d) TS HAT WO [T
'PLcwaqT&wam"mwein
(a) f@igEsw (b) fswacam () famdfessm  (d) e wtmmm
gt L-1 &= L-11 7 faem

L1 L-1I
1. SR : A,  VEE
2. Hf= _ B. foemm
2 ENDT C. fafsror
4, wAMEHRT D. ##@ Az

S o

G- C I B &
@&-D ¢ " B
& ke BB
@ D C B B
50 MHz W 10 mV &I 9194 % T i |1 Hiet 3uge & ?
(a) e AT FeeHeT () CRO
(c) et ae aeerieT (d VTVM
TATHEE FiieTeher Heio 1 SR o ¥ § fHe wfoenfe $@ & ffegenrar?
(a) f==i=t (b) uftay fordei =t
© Femw (d) T T
“HIE ¥ SfaTda: g &
(a) dfiRx (b) RAM
(c) wi-areeEs d : (d) 9/ wE T
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137. A power plant has to supply loads as follows :
12 pmto 5 am = 500 kW; 2 pmto 5 pm = 2500 kW
5 am to 10 am = 800 kW; 5 pm to 8 pm = 2000 kW
10 am to 12 noon = 2000 kW; 8 pm to 10 pm = 1500 kW
12 noon to 2 pm = 1000 kW; 10 pm to 12 pm = 1000 kW
Total units during 24 hours and load factor will be respectively

(a) 51.66 units, 31% (b) 31k units, 51.66%

(¢) 31k units, 33% (d) None of the above
138. A large size synchronous generator is protected against overloads by

(a) over current relay (b) mho relay

(c) temperature sensitive relay (d) Buchholz relay

139. Earth resistance comprises of
A.  Resistance of soil away from electrode.
B.  Contact resistance between electrode and soil.
C. Resistance of metal electrode
(a) "Aonly (b) A andB only
(c) A andConly (d) A, B and C together
140. When -cathode is positive with respect to anode in an SCR, the number of blocked p-n
junctions is ;
(@ 1 (b) 2 © 3 @ 4
141. If a forward voltage (less than forward breakover voltage) is suddenly applied across
anode and cathode of a thyristor, it may result into
(a) Damage to the thyristor
(b) Premature triggering of the thyristor because of high dV/dt
(c) Reduced holding current of the thyristor
(d) All of the above

142. Match the List-I and List-II below :

List =1 List - II y
: D A. GTO :

Gc—-J

; 1, |
2 B.  Thyristor

Go—]

2 E
2 C. MOSFET

G

3 S
4 I s

G

4 K
E.. IGBT

1 P 4
@y A e B B
g AN P P
(e B cB A =
@M e B D A
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138

139.

Qih'mar T i FEMER 91 g e
2 pm ¥ 5 am = 500 kW; 2pm§5pm 2500 kW
am IOam 800 kW; m = 2000 kW
10 1 T = 2000 kW; 8 d’ = 1500 kW
12 @2pm—1000kw oppmm pm = 1000 kW
24 62 F Fof gFTE AT WL 1T SHAET: BT
(@ 51.66 <, 31% (b) 31ﬁm‘r 51.66%
© 31feee, 3% @ T
w@mmaﬁsﬁmﬁwaﬁm’i? ‘
(@) R =i et g (b) = = Em
(c) TTTHM Fag et grr (d) e e g
ﬁt{ﬁlﬁu%mﬁﬁm% :
T ¥ T 951 1wy
=l T T & ST T Wiy

140.

141.

C. 9 Soigie =i Hiewy
(a) érq'aA (b) FTXATNB (¢) FAATNC (d) A, BT CEH

.WSCRﬁ,W@Eﬁwﬁmwﬁ,ﬁmp-nmﬁﬁﬁw%

@ 1 b) 2 ©r 3 d 4

ﬁwm%mwm#ﬁmm(mmm#mw
TE ST, A 35 IROTH 8§ HhaT ¢

(a) WTAREE T R B |

(b) 3T dV/dt 3 BRI, mﬁwaﬂwﬁt{é&ﬂrlﬂm|

(c) TAREET T BT HRT § F |
(d) US| |
142.ﬁ%a°ms‘qa%1amqﬁruﬁﬁmaﬂm
. ujﬁ I . Wt - 11
=t P ‘A. GTO
- _
2, c B. 9mfwY
Gn—J 3 J
3. DE 3 C. MOSFET
G—-% :
. s
4. A D. SIT
G
K
: E. IGBT
e e
o A B R
A Rk T D
ey €k B A
@ ¢ BD X
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143 .

144,

The average gate power dissipation for an SCR is 0.5 W. Gate voltage variation is 2 V to
10 V. Which of the following is true ? '

-

@ V,=2V,[;=025A; (b) V8=2v,1g=(T.05A;
Vg =10V, I, =005A Vg= 10V, I,=025A
(c) Vg =2V, Ig =10A; (d) None of the above

Vg=10V,Ig=2A

In a thyristor d.c. chopper, which type of commutation results in best performance ?
(a) Voltage commutation (b) Current commutation

(c) Load commutation (d) Supply commutation
145. For a symmetrical square wave of 800 V peak to peak and for ideal diode, the voltmeter in :
the given figure will read '
: NI
A1
10 PMMC -
(a) 200V (b) 400V () 800V (d) zero
146. The power supply whose output voltage varies with variation in input voltage or output
load current is known as
(a) Regulated Power Supply (b) Unregulated Power Supply -
(c)  Uninterruptible Power Supply (d) Switched Mode Power Supply
147. For an SCR, dV/dt protection is achieved by the use of
(a) 'RL in series with SCR (b) L in series with SCR
(c) RC in series with SCR (d) RC across SCR
148. SMPS are superior to linear power supplies in respect of
(a) size and efficiency (b) efficiency and regulation
(¢) regulation and noise (d) noise and cost
149. A single phase, half-wave, controlled rectifier has 400 sin (314 t) as the input voltage and
R as the load. For a firing angle of 60° for the SCR, the average output voltage is
(a) 240/m (b) 400/m () 300/m (d) 200/m
150. Which of the following modulation techniques is mostly used in inverters ?
(a) Pulse width modulation (b) Square wave output modulation
(c) Both _(a) and (b) : (d) Neither (a) nor (b)
151. ‘An IGBT has three terminals called et
: (a) Collector, Emitter and Base (b) Drain, Source and Base
(¢c) Drain, Source and Gate : (d) Collector, Emitter and Gate
152. A UPS commonly has following parts :
(i) rectifier (ii) inverter (iii) static switch :
Which of the following is true ? el
(a) only (i) (b) only (i) and (ii)
(e) - (), (ii) and (iii) (d) only (ii) and (iii)
Series-A  * ' ; 30 KAU-08
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145.

146.
T2
148.

149.

. (©) R fepiEdw | (d) s RegaRedT : :
T 800 V ¥ F ¥l <t witer AR a0 et eyt S & e R fer o seesier gwim
ek ™~ ;

ferlt SCR %t sft e i w7 0.5 W 1 ez e o 2 V @ 10 V | Frer

FATTE?

@ V,=2V,[,=025A; ®) V,=2V,[,=005A;
© V,=10V,1,=005A V=10V, =025A
© V,=2V,L=10A; d) THd g

Vg=10V,Ig=2A

@ﬂmﬁmﬁ.ﬁ.ﬂﬁ,%&ﬁnﬂ&mﬁaﬁ#mm%fﬁqm%?
(a) e fepaftads (b) wm fepufiad=

™~
1

12 PMMC

(a) 200V (b) 400V ) 800V d =

?W?ﬁﬁmﬁm@aﬁwmm%wmmwmwﬁw
@) TRT T T () UER W

(c) IF-yefieTe Waw wemd (d) feree A vor T

T SCR i dV/dt qeT =t St &

(a) SCR % v § RL &R (b) SCR % svftsew & L gRr

(¢) SCR % #visH | RC 1T (d) SCR % #RUR RC &R

@ dfaT s F o §, SMPS ISP €t & :

(a) HWTEHAH (b) < ue frws &

(¢) o wd v A d) vREEEH

T Tshel Tell, 310, Fafae st i e7q2 aieest 400 sin (314 t) T YRR F&TFE |
SCR % H=fT &7 60° % forw, sirea smsee aees &

(@) 240/n (b) 400/ (c) 300/m (d 200/n
150, F7 & | I H Ao deheren, T § qaw SIS A @ ol & 2
(@) T e (b)  SHIT T e T
(©). (a) 3 (b) : (d) (a) T (b)H & HIF
151. T% IGBT % ¥ el t wer s &
© (a) TR, THIT SR g (b) T, Wi AT
) 7, 9 e (d) FwRT, THRR IR A
152, WWIEE: T UPS & 9T Bl &
(6] :
(i) TERT
(i) wfew faw
FEddsRw At ;
(a) A () (b) ¥ (i) T (i)
() (@), (i) T (iid) (d) e (if) TF (i)
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153.

154,

155.

156.

157.

158.

159,

xy

If o is the duty cycle type and output voltage of the chopper circuit above is

(a) stepup, aVy (b) step down, aV '

Vs
(c) Step down, T (d) Stepup, B
When the SCR conducts, the forward voltage drop will : . =
(a) 0.7V atall load current (b) 2to02.5V atall load current :
(¢) increases slightly with load current (d) remains constant with load current x

A sebarately excited dc motor is required to be controlled, from a 3-phase supply, for its
operation in the first quadrant only. The most preferred converter would be

(a) 3-phase fully controlled converter

(b)  3-phase fully controlled converter with free wheel diode
(c) 3-phase dual converter '

(d) 3-phase half wave converter

For an SCR with turn-on time of 5 microsecond, an ideal trigger pulse should have
(a) short rise time with pulse width = 3 usec

(b) long rise time with pulse width = 6 psec

(c) short rise time with pulse width = 6 Usec

(d) Noné of the above

Cyclo converter drives are generally employed in

(a) Traction (b) Milling

(c) Generating low frequencies (d) Generating pulses
In a dual converter, the circulating current

(a) allows smooth reversal of load current but increases the response time.
(b)- - allows smooth reversal of load current with improved speed of response.
(c). does not allow smooth reversal of load carrent but reduces response time.

(d) flows only if there is no interconnecting conductor.

A cyclo converter is a _

(a) naturally commutated device

(b) forced commutated device

(c) can be commutated in both manner
(d) None of the above
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Vg CH

s g2 Tl o, @ S R v aftey @ v qar sy g

. (@) VYA, oV (b)) RUIEA, oV
Ve Y.
© RIS, T (@ éqaw,l a
S SCR = AT &, 3 9T 3 St a
(a) Wt YR YRT 9 0.7 V &8 | (b) TR ARYRTE2R2.5VEm |
(c) YR YR % WY 9T & 9977 | (d) W ¥ w fre war €

155.

156.

- GE 1gm

158.

159,

T Yo ST SLEl. HIet S haet yuH wqEie ¥ w1 H A, wﬁm‘?&wﬁﬂﬁwﬁa

FATE | TR 3R TG BT B
(a) oot qut frdfrr wmrex
b) . Fraweia gt frdfr et it et s % W

(c) Trweta gge wE

(d')_ fr-weitg o o aa-é-r__

foell SCR 1 & 31 w74 5 Hresh! Have &, U et o o anlr
(@) 9 T TFE & T UeW 9IS = 3 psec
(b) T TEA T & WY ToW WS = 6 psec
(c) 9 TE 2T & U9 T W = 6 psec

(d) IR F | B T
IEEAl el gI5d W WA e o
(a) FHOTH (b) fafemd

(c) 9 IgfTEl it s A (d) =B IO FHH

TS TGS IRaEd § GNEERT YR

(a) R HRT & T ATt St §, feeg wfafra T st s dar g |

(b) R HTT T G ferdieftenor wwen & SR wafswar st e & quR e € 1
(€) R &Y ot T Ferediettenor et e, femy wfeforan W st S o A E |
(d Wwﬁ%w#mmmaw

'@WW%W

(a) e FEEeS gfe (b) ST TS e

(¢) TATEIFLEFM M ESAE | (d) T QPR A

KAU-08 33

Series-A

" v - 5 . “ - —




oo'osomomnbooos@aoomaoaooooooooomoou

The separately excited dc motor in the figure below has a rated armature current of 20 A

160.
and a rated armature voltage of 150 V. An ideal chopper switching at 5 kHz is used to
control the armature voltage. If L, = 0.1 mH, R, = 1Q, neglecting armature reaction, the
duty ratio of the chopper to obtain 50% of the rated torque at the rated speed and the rated
field current is >
o
¥
200V Lo, R;
@ 04 (b) 0.5 ) 07 @d 08
161. An open-loop system is better than a closed-loop system in terms of
(a) Accuracy (b) Stability (¢) Noise reduction (d) Sensitivity
162. A CRO cannot be used for direct measurement of ; ‘
(a) Voltage (b) Current (c) Frequency (d) Power
163. The cycle time of a PLC is the time it takes to
(a) read all the input signals.
(b) readall the input signals, run the program and update outputs.
(c) read an input signal. :
(d) check all the input signals against the program.
164. The thermocouple pair that gives the maximum sensitivity around 273 °k is
(a) Platinum — Constantan (b) Nichrome — Constantan
(c) Nickel — Constantan (d) Copper - Nickel
165. An inverse transducer converts H i
(a) | electrical energy to any other form of energy ;
(b) electrical energy to light energy |
(c) mechanical displacement into electrical signal
(d) electrical energy to mechanical form
166. Optical Pyrometer is used to measure
(a) Light Intensity (b) Low Temperature
(c) High Temperature (d) Light Intensity & High Temperature
167. Horizontal deflection plates of CRO are placed generally i .
(a) Horizontal (b) Vertical (c) Diagonal (d) (a)or(b)
168. A controller essentially is a/an ' ;
: (a) Amplifier (b) Sensor : (¢) Comparator  .(d) Clipper
169. Programming Languages for PLC is/are e -
_(a) Ladder Diagram ‘ (b) Function Block Diagram
(c) Structured Text (d) All of the above
'170. To measure insulation resistance of equipments of voltage rating upto 440 V the megger
~ generator must generate - ;
(a) 220V (b) 440V (c) 500V " (d) None of these
Series-A 34 KAU-08
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165.

= feomr & <1 78, w gus w0 @ oo Al dex # BT omie aw 20 A # e B emi

AR 150 V & | 3R et #t PR o0 & fig 5 kHz W e a5t @ aeet s @

T feRaT T & 1 AL, = 0.1 mH TR = 1 3R wfafH 3 3% #t 9w, #rii:ﬁﬂ‘a
wﬁgmww@zqﬁﬂm%wﬁ%mwmmzﬁmm

5y
=
200 V @La- R,

@ 04 | L ey © 07 @ 08
T GET-URT FUTER U S5-I FOTelt & 39 Wy & Jge & :
(a) T (b) Ferzer (c) WIH (d) wEEIE
CRO ¥ §t¥ =& |1 1 Hehell & :
(a) @RS (b) wm (c) g (d) wfe A

T% PLC #1 9% 999 9% 974 ¢ fored 7

(@) ST Wbl HrUEAE |

(b) T ST Wehall I UGAT &, WHTH H T qGT AT B AIRE HETE |
(c) T HITE Waha & Y@l & |

(@ wmmaﬁuﬁmaﬁmﬁmh

273 °k % T AGHM GBI A1 AG-AG TH G A G € 2
(a) TR — HRA (b) Frem - SR

(c) et — wimemeq (d) HR - Pt

k¥ ZREgER e aiads e &

(a) Torera =it ot Sott o fopall ST T H (b)  Foree St bt e Sett A
(c) ity fowames =t faga gaa (d) foga =i =t Gt TS

166.'Wraﬁ=rsammq°ra;ruuhmﬁ%

(a)  STTE] Y e AR (b) HH WHR I A A

(c) =T IYAM B WA H - (d) WERINT T TeAT qYT ST qI99E S A9 5
167. CRO =1 &ifest fagtuor @3¢ s vt st &

(a) &ifast (b) Tt (c) fod=w (d) (a) == (b)
168. T T g £

(@) wad®s - (b) HIEw () TR (d) o "
169. PLC % e geamer 89 et Wionfa ofast &8

(a) T INE i (b) TR AP NG

() !zwé.‘éiﬂz_ (d) TN
170. 440 V & i T amet ST & TGeE WY A9 F T TR SRET B SRE ST
C NEEE Y

(@ 220V (b) 440V (c) 500V (d) QA
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171. Lissajous pattern obtained on a CRO screen is a circle. Frequency of two signals are

(a) Equal (b) Unequal (c) Zero (d) Infinity
172. Indicating instruments should be

(a) undamped (b) critically damped

(c) over damped (d) under damped

173. A megger is to measure insulation resistance of a cable. The cable should be connected to
(a) Battery (b) DC supply () AC supply (d) No supply

174. A strain gauge is a passive transducer and is employed for converting
(a) Pressure into change in resistance :
(b) Force into displacement
(¢) Mechanical displacement into a change of resistance
(d) None of the above ;

175. A megger is basically a/an

(a) Moving iron type instrument (b) Moving coil type instrument
(¢) Hot wire instrument (d) Electrolytic instrument
176. The dynamic characteristics of capacitive transducer are similar to those of
(@) Low-pass filter (b) High-pass filter
(c) Notch filter (d) Band-stop filter
177. The insulation resistance test is performed on power lines with
(a) ohm meter (b) earth tester
(c) megger (d) Any of these
178. Piezo meter is used to measure
(a) Very high pressure (b) Very low pressure
(c) Displacement (d) None of these

179. Which of the following devices is used to measure flow in an open channel ?
(a) Venturimeter (b) Rota meter
(¢) Orifice "~ (d) Pitot tube

180. The ladder diagram g the circuit shown below is
3 :
A : - e I : | |
‘| Battery | : ‘ ..I .. 34 0 :|. :

_(a). I——H'———O-—i (b) F—H——-H—-—CH
© FHF—HF—0O— o HHF——0—
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T CRO % v 5t Foreroger et war et & |1 @ el o s vt

(a) UHEHH (b) 3=EE ) I d) o
- (@ soEmfm (b)  Fhiferenar; STt
(c) i svamifee : . (d) - W ok

173.

174,

175,
176.
177,
178,
179.

180.

U W I U et F wferie Ao & | et ® fea ser s e

(@) = ®) AHFEE () THEEE () IETEETE

T A T U iy gieegwr & ST sqe it fwar s &

(a) T W WY IReed § T % e

(b) T =i faemT § ager & fore :

() ity foreame it wferty aRedw & weert & fore
(d) ST F | B @

(a) Ta=er oie SEo (b) fE=e FvEH IO
(c) - T A YT . (d) T sTvEet Sy
it %ﬁmwﬁzﬁmﬁmﬁw%ﬁ%: ‘
(a) @ ; (b) e freey
(c) ¥ feeey d) =i fres
e WA W e ity e fre § @ feed e s & 9
(a) @mHRT (b) I TRT
g RS @) THE SR
forsiteiter femt = & ford waaber fomam rerr & 9
(a) fasTTEm \ (b) WETFHEE
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